



## PRESS RELEASE

## WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). *October 13, 2025* - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "**Company**" or "**Technoprobe**") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from October 6, 2025 to October 10, 2025, of n. 255,000 ordinary shares (equal to 0.03444% of the share capital) at the weighted average price of Euro 8.80977 for a total value of EUR 1,980,463.60.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
06/10/2025	0	///	///
07/10/2025	0	///	///
08/10/2025	50,000	8.85161	442,580.50
09/10/2025	85,000	8.82216	749,883.60
10/10/2025	90,000	8,75555	787.999,50

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at October 10, 2025 the Company owns 10,764,872 ordinary shares (equal to 1.64787% of the share capital).

\*\*\*

This press release is available on Technoprobe's website <a href="https://www.technoprobe.com">https://www.technoprobe.com</a> in the Investor Relations section and on the authorized storage system named eMarket Storage" (<a href="www.emarketstorage.it">www.emarketstorage.it</a>).





## Contact

Technoprobe S.p.A.

Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

Technoprobe S.p.A.

Communication & Marketing Manager

Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

## **Technoprobe Group**

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com







Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZICDTN	08/10/2025	10:12:12	Buy	IT.ico	MTA	TPRO	8.86	550	4873
1ZAZICDTO	08/10/2025	10:12:12	Buy	IT.ico	MTA	TPRO	8.86	54	478.44
1ZAZICDTP	08/10/2025	10:12:12	Buy	IT.ico	MTA	TPRO	8.865	677	6001.605
1ZAZICDTQ	08/10/2025	10:12:12	Buy	IT.ico	MTA	TPRO	8.87	200	1774
1ZAZICDTR	08/10/2025	10:12:12	Buy	IT.ico	MTA	TPRO	8.87	1,028	9118.36
1ZAZICDTS	08/10/2025	10:12:12	Buy	IT.ico	MTA	TPRO	8.87	768	6812.16
1ZAZICDTT	08/10/2025	10:12:12	Buy	IT.ico	MTA	TPRO	8.87	670	5942.9
1ZAZICDTU	08/10/2025	10:12:12	Buy	IT.ico	MTA	TPRO	8.87	13,424	119070.9
1ZAZICDTV	08/10/2025	10:12:12	Buy	IT.ico	MTA	TPRO	8.87	2,629	23319.23
1ZAZICHO4	08/10/2025	12:14:41	Buy	IT.ico	MTA	TPRO	8.85	200	1770
1ZAZICHO5	08/10/2025	12:14:41	Buy	IT.ico	MTA	TPRO	8.85	122	1079.7
1ZAZICHO6	08/10/2025	12:14:41	Buy	IT.ico	MTA	TPRO	8.855	161	1425.655
1ZAZICHO7	08/10/2025	12:14:41	Buy	IT.ico	MTA	TPRO	8.855	109	965.195
1ZAZICHO8	08/10/2025	12:14:41	Buy	IT.ico	MTA	TPRO	8.855	927	8208.585
1ZAZICHO9	08/10/2025	12:14:41	Buy	IT.ico	MTA	TPRO	8.86	380	3366.8
1ZAZICHOA	08/10/2025	12:14:41	Buy	IT.ico	MTA	TPRO	8.86	5,626	49846.36
1ZAZICHOB	08/10/2025	12:14:41	Buy	IT.ico	MTA	TPRO	8.86	2,475	21928.5
1ZAZICL5U	08/10/2025	14:40:08	Buy	IT.ico	MTA	TPRO	8.825	8	70.6
1ZAZICL5V	08/10/2025	14:40:08	Buy	IT.ico	MTA	TPRO	8.825	162	1429.65
1ZAZICL5W	08/10/2025	14:40:08	Buy	IT.ico	MTA	TPRO	8.83	1,046	9236.18
1ZAZICL5X	08/10/2025	14:40:08	Buy	IT.ico	MTA	TPRO	8.83	5,876	51885.08
1ZAZICL5Y	08/10/2025	14:40:08	Buy	IT.ico	MTA	TPRO	8.83	6,765	59734.95
1ZAZICL5Z	08/10/2025	14:40:08	Buy	IT.ico	MTA	TPRO	8.83	1,124	9924.92
1ZAZICL60	08/10/2025	14:40:08	Buy	IT.ico	MTA	TPRO	8.83	1,235	10905.05
1ZAZICL65	08/10/2025	14:40:13	Buy	IT.ico	MTA	TPRO	8.83	160	1412.8
1ZAZICL6E	08/10/2025	14:40:20	Buy	IT.ico	MTA	TPRO	8.83	1,225	10816.75
1ZAZICL7J	08/10/2025	14:41:40	Buy	IT.ico	MTA	TPRO	8.83	2,399	21183.17
1ZAZID4TV	09/10/2025	13:36:17	Buy	IT.ico	MTA	TPRO	8.81	33	290.73
1ZAZID4TW	09/10/2025	13:36:17	Buy	IT.ico	MTA	TPRO	8.81	3,000	26430
1ZAZID4TX	09/10/2025	13:36:17	Buy	IT.ico	MTA	TPRO	8.81	1,967	17329.27
1ZAZID4TY	09/10/2025	13:36:24	Buy	IT.ico	MTA	TPRO	8.81	396	3488.76
1ZAZID4TZ	09/10/2025	13:36:24	Buy	IT.ico	MTA	TPRO	8.81	156	1374.36
1ZAZID4UG	09/10/2025	13:36:33	Buy	IT.ico	MTA	TPRO	8.815	178	1569.07
1ZAZID4UJ	09/10/2025	13:36:45	Buy	IT.ico	MTA	TPRO	8.815	375	3305.625
1ZAZID4UK	09/10/2025	13:36:48	Buy	IT.ico	MTA	TPRO	8.82	200	1764
1ZAZID4UL	09/10/2025	13:36:48	Buy	IT.ico	MTA	TPRO	8.82	188	1658.16







1ZAZID4UM	09/10/2025	13:36:48	Buy	IT.ico	MTA	TPRO	8.82	295	2601.9
1ZAZID4UN	09/10/2025	13:36:48	Buy	IT.ico	MTA	TPRO	8.82	403	3554.46
1ZAZID4UO	09/10/2025	13:36:48	Buy	IT.ico	MTA	TPRO	8.82	200	1764
1ZAZID4UP	09/10/2025	13:36:48	Buy	IT.ico	MTA	TPRO	8.82	1,714	15117.48
1ZAZID4UT	09/10/2025	13:36:50	Buy	IT.ico	MTA	TPRO	8.815	3,000	26445
1ZAZID4UW	09/10/2025	13:36:51	Buy	IT.ico	MTA	TPRO	8.815	1,447	12755.31
1ZAZID4UX	09/10/2025	13:36:57	Buy	IT.ico	MTA	TPRO	8.82	139	1225.98
1ZAZID4UY	09/10/2025	13:36:57	Buy	IT.ico	MTA	TPRO	8.82	189	1666.98
1ZAZID4UZ	09/10/2025	13:36:57	Buy	IT.ico	MTA	TPRO	8.82	166	1464.12
1ZAZID4V0	09/10/2025	13:36:57	Buy	IT.ico	MTA	TPRO	8.82	2,506	22102.92
1ZAZID4VD	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.815	200	1763
1ZAZID4VE	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.815	189	1666.035
1ZAZID4VF	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.82	1,098	9684.36
1ZAZID4VG	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.825	175	1544.375
1ZAZID4VH	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.825	1,004	8860.3
1ZAZID4VI	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.825	110	970.75
1ZAZID4VJ	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.83	1,022	9024.26
1ZAZID4VK	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	200	1767
1ZAZID4VL	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	1,115	9851.025
1ZAZID4VM	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	114	1007.19
1ZAZID4VN	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	5,544	48981.24
1ZAZID4VO	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	5,098	45040.83
1ZAZID4VP	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	5,098	45040.83
1ZAZID4VQ	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	658	5813.43
1ZAZID4VR	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	712	6290.52
1ZAZID4VS	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	2,839	25082.57
1ZAZID4VT	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	660	5831.1
1ZAZID4VU	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	3,456	30533.76
1ZAZID4VV	09/10/2025	13:37:30	Buy	IT.ico	MTA	TPRO	8.835	708	6255.18
1ZAZID4VZ	09/10/2025	13:37:31	Buy	IT.ico	MTA	TPRO	8.81	1,987	17505.47
1ZAZID4W0	09/10/2025	13:37:31	Buy	IT.ico	MTA	TPRO	8.81	1,314	11576.34
1ZAZID4W1	09/10/2025	13:37:31	Buy	IT.ico	MTA	TPRO	8.81	1,147	10105.07
1ZAZID4WX	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.795	204	1794.18
1ZAZID4WY	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.795	1,354	11908.43
1ZAZID4WZ	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.8	111	976.8
1ZAZID4X0	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.8	204	1795.2
1ZAZID4X1	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.805	1,140	10037.7
1ZAZID4X2	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.805	113	994.965







1ZAZID4X3	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.805	684	6022.62
1ZAZID4X4	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.805	902	7942.11
1ZAZID4X5	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.81	200	1762
1ZAZID4X6	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.81	107	942.67
1ZAZID4X7	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.81	219	1929.39
1ZAZID4X8	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.81	2,044	18007.64
1ZAZID4X9	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.81	9,257	81554.17
1ZAZID4XA	09/10/2025	13:38:08	Buy	IT.ico	MTA	TPRO	8.81	2,461	21681.41
1ZAZID9FJ	09/10/2025	15:46:50	Buy	IT.ico	MTA	TPRO	8.82	308	2716.56
1ZAZID9FK	09/10/2025	15:46:50	Buy	IT.ico	MTA	TPRO	8.82	111	979.02
1ZAZID9FL	09/10/2025	15:46:50	Buy	IT.ico	MTA	TPRO	8.825	1,047	9239.775
1ZAZID9FM	09/10/2025	15:46:50	Buy	IT.ico	MTA	TPRO	8.825	119	1050.175
1ZAZID9FN	09/10/2025	15:46:50	Buy	IT.ico	MTA	TPRO	8.825	1,699	14993.68
1ZAZID9FO	09/10/2025	15:46:50	Buy	IT.ico	MTA	TPRO	8.83	123	1086.09
1ZAZID9FP	09/10/2025	15:46:50	Buy	IT.ico	MTA	TPRO	8.83	8,332	73571.56
1ZAZID9FQ	09/10/2025	15:46:50	Buy	IT.ico	MTA	TPRO	8.83	1,040	9183.2
1ZAZID9FR	09/10/2025	15:46:50	Buy	IT.ico	MTA	TPRO	8.83	160	1412.8
1ZAZID9FS	09/10/2025	15:46:52	Buy	IT.ico	MTA	TPRO	8.83	2,061	18198.63
1ZAZIDQP9	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.72	109	950.48
1ZAZIDQPA	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.72	126	1098.72
1ZAZIDQPB	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.725	104	907.4
1ZAZIDQPC	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.725	988	8620.3
1ZAZIDQPD	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.725	481	4196.725
1ZAZIDQPE	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.73	992	8660.16
1ZAZIDQPF	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.73	101	881.73
1ZAZIDQPG	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.73	724	6320.52
1ZAZIDQPH	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.73	909	7935.57
1ZAZIDQPI	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.73	5,811	50730.03
1ZAZIDQPJ	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.73	1,189	10379.97
1ZAZIDQPK	10/10/2025	12:01:19	Buy	IT.ico	MTA	TPRO	8.73	3,466	30258.18
1ZAZIE028	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.755	441	3860.955
1ZAZIE029	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.755	146	1278.23
1ZAZIE02A	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.76	94	823.44
1ZAZIE02B	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.76	130	1138.8
1ZAZIE02C	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.76	1,037	9084.12
1ZAZIE02D	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.765	120	1051.8
1ZAZIE02E	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.765	989	8668.585
1ZAZIE02F	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.77	1,014	8892.78







1ZAZIE02G	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.77	130	1140.1
1ZAZIE02H	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.77	2,000	17540
1ZAZIE02I	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.77	911	7989.47
1ZAZIE02J	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.77	881	7726.37
1ZAZIE02K	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.775	1,002	8792.55
1ZAZIE02L	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.775	2,000	17550
1ZAZIE02M	10/10/2025	17:05:26	Buy	IT.ico	MTA	TPRO	8.775	9,105	79896.38
1ZAZIE035	10/10/2025	17:05:34	Buy	IT.ico	MTA	TPRO	8.77	200	1754
1ZAZIE036	10/10/2025	17:05:34	Buy	IT.ico	MTA	TPRO	8.77	145	1271.65
1ZAZIE037	10/10/2025	17:05:34	Buy	IT.ico	MTA	TPRO	8.77	116	1017.32
1ZAZIE038	10/10/2025	17:05:34	Buy	IT.ico	MTA	TPRO	8.77	162	1420.74
1ZAZIE039	10/10/2025	17:05:34	Buy	IT.ico	MTA	TPRO	8.77	470	4121.9
1ZAZIE03A	10/10/2025	17:05:34	Buy	IT.ico	MTA	TPRO	8.775	18,907	165908.9
1ZAZIE03Y	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.765	41	359.365
1ZAZIE03Z	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.765	137	1200.805
1ZAZIE040	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.765	323	2831.095
1ZAZIE041	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.765	470	4119.55
1ZAZIE042	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.765	128	1121.92
1ZAZIE043	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.77	125	1096.25
1ZAZIE044	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.77	470	4121.9
1ZAZIE045	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.77	1,028	9015.56
1ZAZIE046	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.775	3,559	31230.23
1ZAZIE047	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.775	1,046	9178.65
1ZAZIE048	10/10/2025	17:05:43	Buy	IT.ico	MTA	TPRO	8.775	2,673	23455.58
1ZAZIE1GZ	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.735	200	1747
1ZAZIE1H0	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.735	10	87.35
1ZAZIE1H1	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.735	480	4192.8
1ZAZIE1H2	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.74	120	1048.8
1ZAZIE1H3	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.745	200	1749
1ZAZIE1H4	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.745	480	4197.6
1ZAZIE1H5	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.745	128	1119.36
1ZAZIE1H6	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.75	135	1181.25
1ZAZIE1H7	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.75	280	2450
1ZAZIE1H8	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.75	4,347	38036.25
1ZAZIE1H9	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.75	200	1750
1ZAZIE1HA	10/10/2025	17:20:46	Buy	IT.ico	MTA	TPRO	8.75	3,420	29925
1ZAZIE1VV	10/10/2025	17:25:12	Buy	IT.ico	MTA	TPRO	8.715	500	4357.5
1ZAZIE1VW	10/10/2025	17:25:12	Buy	IT.ico	MTA	TPRO	8.715	350	3050.25







1ZAZIE1VX	10/10/2025	17:25:12	Buy	IT.ico	MTA	TPRO	8.715	150	1307.25
1ZAZIE1VY	10/10/2025	17:25:12	Buy	IT.ico	MTA	TPRO	8.715	75	653.625
1ZAZIE1VZ	10/10/2025	17:25:12	Buy	IT.ico	MTA	TPRO	8.715	75	653.625
1ZAZIE1W0	10/10/2025	17:25:12	Buy	IT.ico	MTA	TPRO	8.715	342	2980.53
1ZAZIE1W5	10/10/2025	17:25:12	Buy	IT.ico	MTA	TPRO	8.715	8	69.72
1ZAZIE1W6	10/10/2025	17:25:12	Buy	IT.ico	MTA	TPRO	8.715	32	278.88
1ZAZIE1WA	10/10/2025	17:25:13	Buy	IT.ico	MTA	TPRO	8.715	500	4357.5
1ZAZIE1WB	10/10/2025	17:25:13	Buy	IT.ico	MTA	TPRO	8.715	338	2945.67
1ZAZIE1WC	10/10/2025	17:25:13	Buy	IT.ico	MTA	TPRO	8.715	162	1411.83
1ZAZIE1XX	10/10/2025	17:25:21	Buy	IT.ico	MTA	TPRO	8.715	157	1368.255
1ZAZIE1XY	10/10/2025	17:25:21	Buy	IT.ico	MTA	TPRO	8.715	56	488.04
1ZAZIE1ZA	10/10/2025	17:25:29	Buy	IT.ico	MTA	TPRO	8.715	287	2501.205
1ZAZIE1ZB	10/10/2025	17:25:29	Buy	IT.ico	MTA	TPRO	8.715	13	113.295
1ZAZIE1ZC	10/10/2025	17:25:29	Buy	IT.ico	MTA	TPRO	8.715	500	4357.5
1ZAZIE1ZM	10/10/2025	17:25:33	Buy	IT.ico	MTA	TPRO	8.715	500	4357.5
1ZAZIE1ZN	10/10/2025	17:25:33	Buy	IT.ico	MTA	TPRO	8.715	724	6309.66
1ZAZIE1ZO	10/10/2025	17:25:33	Buy	IT.ico	MTA	TPRO	8.715	272	2370.48
1ZAZIE1ZP	10/10/2025	17:25:33	Buy	IT.ico	MTA	TPRO	8.715	228	1987.02
1ZAZIE220	10/10/2025	17:25:59	Buy	IT.ico	MTA	TPRO	8.715	500	4357.5
1ZAZIE24C	10/10/2025	17:26:21	Buy	IT.ico	MTA	TPRO	8.715	500	4357.5
1ZAZIE24D	10/10/2025	17:26:21	Buy	IT.ico	MTA	TPRO	8.715	111	967.365
1ZAZIE24F	10/10/2025	17:26:23	Buy	IT.ico	MTA	TPRO	8.715	389	3390.135
1ZAZIE24G	10/10/2025	17:26:23	Buy	IT.ico	MTA	TPRO	8.715	389	3390.135
1ZAZIE2CU	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.73	200	1746
1ZAZIE2CV	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.73	91	794.43
1ZAZIE2CW	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.73	124	1082.52
1ZAZIE2CX	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	91	794.885
1ZAZIE2CY	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	127	1109.345
1ZAZIE2CZ	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	200	1747
1ZAZIE2D0	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	84	733.74
1ZAZIE2D1	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	84	733.74
1ZAZIE2D2	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	132	1153.02
1ZAZIE2D3	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	68	593.98
1ZAZIE2D4	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	500	4367.5
1ZAZIE2D5	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	83	725.005
1ZAZIE2D6	10/10/2025	17:28:32	Buy	IT.ico	MTA	TPRO	8.735	200	1747
1ZAZIE2E8	10/10/2025	17:28:38	Buy	IT.ico	MTA	TPRO	8.74	88	769.12
1ZAZIE2E9	10/10/2025	17:28:38	Buy	IT.ico	MTA	TPRO	8.745	127	1110.615







1ZAZIE2EA	10/10/2025	17:28:38	Buy	IT.ico	MTA	TPRO	8.75	139	1216.25
1ZAZIE2EB	10/10/2025	17:28:38	Buy	IT.ico	MTA	TPRO	8.75	504	4410
1ZAZIE2FI	10/10/2025	17:28:49	Buy	IT.ico	MTA	TPRO	8.74	200	1748
1ZAZIE2FJ	10/10/2025	17:28:49	Buy	IT.ico	MTA	TPRO	8.74	4,800	41952